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Inorganic Chemistry
Time Allowed : Three Hours

Maximum Marks : 30

Note : This paper is of thirty (30) marks divided into three (03)

sections A, B and C. Learners are required to attempt the
questions contained in these sections according to the
detailed instructions given therein.

: I% UIA-UR A (30) 3fehl T & I 7 (03) GSi &, @ T
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Section - A / @S-

(Long answer type Questions) /( S 3T a1t W9 )

Note : Section 'A’' contains four (04) long-answer-type questions

A<

of 72 marks each. Learners are required to answer any
two (02) questions only. (2x74=15)

Te ‘% W =W (04) < W 9 we fou m ¥, v
v & o 7Y i Teifa @ 1 foranfelan = = | haw
AU H T
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What do you understand by hybridisation ? Give the
hybridisation and geometry of the following molecules/ions:

CH,, SO, NH,
HHT0T ¥ 37T T G 21? Fefafea dfessm § 5
THIY] W Heh{Ul Tel ST THLAE
CH,, SO2 NH,

Define electron affinity. How Born-Haber cycle is used to

calculate the electron affinity ?

SO SR hi IRATA Hifel@ | 919 8o Ooh ol Solde™
[T Ad i & forw o w4 fepan S 272

Discuss Molecular Orbital theory. How does this theory differ
from Valence Bond theory. Discuss the paramagnetic nature
of O, molecule with the help of M.O. theory.

TR heliE fagid W =91 HifSw | 98 9gqaies o=
fagia @ fre wer T 22 Ao ot ST a TeRta ol
aUTfaeh el faga § 99emsa|

What is crystal defect ? Explain with examples and also explain

their consequences in brief.

fored Y w1 27 fheed 9 &l SR § GHEEY 9o SHh
giome of 9ev ° 99smed |

Section - B / @8-@

(Short answer type Questions) (T STRI T W9 )

Note : Section 'B' contains eight (08) short-answer-type questions

of 2%, marks each. Learners are required to answer any
four (04) questions only. (4x22=10)
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g ‘@' ® 318 (08) Y ST et w9 feu g &, wedeh wo
& o 2y, ofer fraifa & 1 Franfdfa’ =t @ @ e =R
WoHl e ST AT |

What is radius ratio ruel ? How can it predict the structure of

an ionic crystal ?

e erqua fam =1 ¥ ? WE 49w o feew @t
AT I Fdrd ® 2

What is ionisation energy ? Why the first ionisation energy of

alkaline earth metals are very low as compared to second?

It Soil 1 B2 &g 1 Orgel ot G i Sl
ST g emafTer <=t o 9gd &9 i &t € ?

What is hydrogen bond ? What are the essential conditions

for hydrogen bond formation ? Give examples.

TIESISH o7 1 ¢ ? TESISH oY a1 & faw Sfevaeh I
1 &7 I IS |

Explain why Pbl, is unstable while Snl, is stable ?
TEEEd Pbl, semd ¥ Saf® Snl, Tl 7, @@ ?

What is 3 centre-2 electron bond ? Explain with an example.

T BT oM Y F T ? IR TH FHIEY |

Briefly discuss interhalogen compounds. Why interhalogen

compounds are more reactive than halogens ?

TS IRl HAT § TSR | SrauRdisH A
2aieH @ 3t foramsfier &4 B © 2
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Note :

A<

Differentiate between heat of formation and lattice energy with

example.

frHior =t ST U SiTeie el A SR & 1Y TR Taigd|

Explain the dipole moment method to determine percent ionic

character of a polar covalent bond.

T YA Geqasieh a9 1 Jiavd sTEfHe afe faiia e
& fou foydta el fafa = ww=md)

SSection - C / @E-T

(Objective type Questions) / ( TS TIT)

Section 'C' contains ten (10) objective-type questions of
one 2 mark each. All the questions of this section are
compulsory. (10x%=5)

g T H T\ (10) TS uvA fow e ¥, v wm @
fom v, o fruifa & | 30 T & |t wya arfame &

Choose the correct answer.

W I R TIA hifag |
The noble gas forming maximum nuber of compounds is
(@ Ne (b) Xe
(c) Kr (d)r Rn
(37) Ne (d) Xe
(§) Kr () Rn
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2. The outer most electronic configuration of the most
electronegative element is :

(a) ns’np’ (b) ns’np?
(c)  ns? (d) ns*np*
HI9 SRUTHS dcdl o1 Had a8l SoeRie a9 © -

(31) ns’np’ (d)  ns’np’
() ns? ()  ns’np’

3. Thallium shows different oxidation states because :
(a) it is a transition element

(b)  of inert pair effect
(¢)  ofits amphoteric character

) ofits higher reactivity

(1) ¥ TH WHAU T B

(9) I Afwa 3 yuE feem @

(9) ¥€ SHguH O @ ?

(7) 9% 9gd fhamfiar € |

4. Which of the following is not an alkali metal ?
(a) Rh (b) Cs
(c) Fr (d) Rb
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T ¥ BN & g w1 R 2

(31) Rh () GCs
(9) Fr (D Rb
5. The molecule which has zero dipole moment is:
(@  CH/.CL (b)  BF,
(c)  NF, (d) ClO,
= § Frg A g s S R
(1) CHCL (¥) BF,
(d) NF, (2) Clo,
6. The compound formed by Sp*d hybridisation will have the
structure :
() Planar (b) Pyramidal
(c) Angular (d) Trigonal bipyramidal
SP3d Hehur g1 fAfda Aifier &1 dn entt
(1) THaeE (@) fafrew
(@) vt (7) fawr smsfRfrea
7. Bond order in a molcule of NO is :
(a) 2 (b) 1.5
(c) 2.5 (d) 3
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NO ifies & &) o s TR €

(1) 2 (9) L5
(') 25 (D 3
8. The order of repulsion between lone pair (Ip) and bond pair

(bp) of ¢lectrons is :

(@) Ip—1lp>1lp—bp>bp—bp
(b) Ip—bp>Ilp—1Ip>bp—bp
(c) bp—bp>Ilp—Ip>Ip—bp
(d) None of these

8.  SoioHl % Wehreh! I UH &9 ITH & o= WAhuU i A 8:

(1) Ip—1Ip>Ip—bp>bp—bp
() Ip—bp>Ip—Ip>bp—bp

(|) bp-bp>lp—Ip>Ip-bp

() T ¥ % T
9. Coordination number is the number of anions that surround
a:
(a) Cation (b) Molecule
(c) Atom (d) All of these
T G HOMEA i o% e & S OSRet ©
(1)  YArRA (%) 19
(®) g (2) @i
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10.  Shape of CIF, molecule is :
()  Butterfly b T
()  Pyramidal (d)  Trigonal planar
CIF, 10 T 3TN §
(a1) foae (@ &
(W) fRirea (%)  fashi qeit
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